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MAT 117, Spring 2012 — D. Ivansic Show all your work!

1. (8pts) DJ Phonick would like to have $2000 for a good turntable system. How much
should he deposit now in an account bearing 3.75%. compounded guarterly m order to have
the desired amount in one and a half years? How much of the $2000 came from interest?
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2. (Gpts) Bank of Eggner's Ferry is offering a 2.45% interest rate on an account that is
compounded quarterly, while New Bridge Bank has an account at 2.35%, compounded daily.
Which account is the better deal?
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3. (10pts) If you deposit $1000 into an account bearing 7% interest, compounded monthly,
how long will it take until you have 33500 in the account?
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4. (10pts) To save for an addition to the house, the Jorgensons deposit $300 every month
into an account bearing 3.25% interest, compounded monthly.

a) How much do they have in the account in 4 years?

b) How much did they eax:n in interest over these 4 years? / {4 )
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5. (14pts) At the time of little Mia’s birth, her parents decided to save some money [or her
college. They set aside $1000 every quarter for 12 years in an account bearing 4.5% interest.
compounded quarterly. Then, financial hardship forced them to stop contributing, but they
left the accumulated money in the account,

a) How much is in the account when Mia is 187

b) How much of it was from deposits. and how much from interest?
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6. (12pts) The Jimenezes would like to save $20.000 for a new car. If they can set aside
$300 every month into an account bearing 3.72%. compounded monthly, how long will it
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